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Note: -You have four cholces for each cbjective type question as A, B, C and D. The choice which you think is correct, fill that circle in front of that
question number in your answer book. Use markar or pen to fill the circles. Cutting or filling up two or more circles will mesult no mark.

(SECTION-A i.»)
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Symbol of fixed resistoris; —r ; &
o
Srklldad |y LN, v, >V, V, >V, V>N,
In step up transformer: 7 '*
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Radium-226 has a half-life of: J years | J1920years | Jb 1620years | Ji 1720years |
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Lens’s law is a manifestation of the law of: Conservationof | Consewvation of | Conservatlon of | Conservation of
mass % gnergy charge momentum
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If CD 1s mada of metal then It Is called: Hard disc Floppy disc Compaund disc Metallic disc
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The output of a two-Input NOR gate Is 1 when: N 'l
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7. | During the buming of 1 ton of coal, amount of | 3.6% 10's 4.6x101%7 5.6x10'%7 6.6x10'" |
energy released: P 5
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Two capacitors of capacitance 12 and 6 are 11
connected In parallel with a 12 V" battery. nl
The equivalent capacitance is: |
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9. || llel combination of resistors each resistor e = * InBaA
i Yoltage Current Resistance BothAandB |
will have same:
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10. | To get virtual image from the convex lens the object OnF Between F and 2F | Between Q and F Beyond 2F
is kept: o ®
e S iS4 25°C _ _
1, e 6020ms™ | 6030ms™ | 6040ms™ | 6050ms !
Speed of sound in Nickel at 25 C'ls: ¢ ’
2. gbrbadtibi ol LA | g gge 1.895 1.79s 1.69s
Time period of simple pendulum of 1m length is: s
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